T

[Omean p [GeV]

Ratio to ATLAS

N
N

N

=
o

1.6

1.4

1.2

0.8

0.6

0.4

0.2

0.5

13000 GeV pp

LlJndelrIyinlg Event

[ T T T ]
—  Average P vs N, (nl<25,p >05GeV,p_>1GeV) —
. m  ATLAS ]
—  --O-- Herwig++ 2.7.1 default n
— --13-- Herwig 7.1.1 default i
— —¥— Herwig 7.1.1 softTune ]
. P
- | | | | | [ | | | | | [ ]
: T T T | T T T T | T T T T :
@@-@@@@@@@@@@@@e}@@e}@ﬂa@@@@@'_
" 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1
0 10 20

N, (Transverse)

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


